do/dAn® [mb]
2,

=
o
N

=
o

[EEY

Ratio to Herwig 7.2.1 default

o
&

7000 GeV pp Soft QCD
' I T

Rivet 3.1.10, = 2.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

E| I T I T I T | T I T I T I E
| (p, > 0.2 GeV, h| <5.2) _
SEEN =
- %% 7]
E_,' ¢ "'Q.E _E
= * =
=y &E =
?mf “‘0.‘ ISI E
= ., . =
= % EEEE =
= Yoy Ty 3
B t”"“ !q ]
= et 004 N =
— K2 S -
B ’9’0’ -
= =
—  --3-- Herwig 7.2.1 default =
| ¢ Sherpa 2.2.9 default |
§| | | | | | R | | | | ;
:l T T T T | T T T T | :
B ** ]
—
B
I Y _|




	Contents
	Page 1


